(2010.108) LISAtHl |

I =g ERE Xt o
2010/10/01 |16t Sl LtSI| X (=aE) EYXNAUAI X2 =40 57,800 0
2010/10/05 | R 2 SIS (B OtSCH2THE 787,890 0
2010/10/05 |R 25 S22 (2SS MEU2S) OtSCH2HE 1,514,980 0
2010/10/05 | R 2 & SIS (AE=EH OtSCH2HE 332,550 0
2010/10/05 |2 E0I1/ =212 OtSCH2HE 7,029,700 0
2010/10/05 | B2 TA2) 2 (S=sS3eh OtSCH2HE 785,650 0
2010/10/05 [14X} BlOLI=)| Molxle CHAOIE NEX 0[HO= ZxJ HAs|AA 1,491,000 0
2010/10/05 |SoI& XSS UHAX XEs SH BHet SOIEE —10,000 0
2010/10/06 |&=&0I= DAL SHots MHESHAILISs CHAKA X2 =& 1,480,000 0
2010/10/08 12010 _Ooi="ol2l(0i==4) =TI 23] 1,900,000 0
2010/10/11 |82 S WS ot IHESHEEAL =282 2010 2 700,000 0
2010/10/11 |SUE S=swWESAH) 8ot IHESHEAL =282 Q1A 35 Q| 600,000 0
2010/10/11 |29 of & 2MHIA BHEH] 2 ZASA 9 119,760 0
2010/10/11 [MAESZ Jalgw ol NE=TSNUE o =Ad EES R, 936,000 0
2010/10/13 |5t M= WS Mot IHESHAL =282 SIAUA 1,900,000 0
2010/10/15 |d 4= MMESHALIsS HAX WSHIXS HIdESE 2,050,000 0
2010/10/15 |E2 3 JIZ2AS Oiad|2 XAl (1624) LIsSAIE E 9,670,000 0
2010/10/15 |16X S| Lts)] N (=4E) FEHXRAUHAT N3 =40 175,500 0
2010/10/20 |=AtE =A@ SHole HESEHMALIS =2 BiEHI =40 1,447,930 0
2010/10/25 |BR2E S 2D 2 (2L OtSCH2HE 621,020 0
2010/10/25 |1BR2E S A2 2 (S 2HEU2S) OtSCH2HE 1,276,980 0
2010/10/25 | B2 E S22 (AEME OtSCH2HE 324,120 0
2010/10/25 |2 01 =212 OtSCH2HE 6,329, 160 0
2010/10/25 |BE 28 T2 2 (SssHY) OtSCH2HE 746,780 0
2010/10/25 | =S 4EF 2728 F20H| CEE 2 5,100 0
2010/10/26 |9telEtA Ot<el QIEls FILAL =Ety| =54 350,000 0
2010/10/26 |9telEtA Didel Qe EILA sIolXldh WwsH| 2| 222+ 9 124,300 0
2010/10/26 |9telEtA Didel QIElE AtA BSeld 3/oldl 2l Alelab 2 386,000 0
2010/10/27 |16+ S| Lts)] N (=4E) S XRAUHAT AR S-OHLIe|OHI H = A 54,140 0
2010/10/27 |12A2 X DL UE ol HESEHAMUS =202 XA SAMEEE 3,645,000 0
2010/10/27 |24t=7 SUSSOISC ot HE SEMAM Lis A3 [SM4s2E 1,000,000 0
2010/10/28 |2 H AR 14XS| Y LISD| X ZSH| &toH Bry SEHASE —180,000 0
2010/10/28 |2 HWIZ=Z $396 @1,124 ElE= 1,119,504 0
2010/10/28 |2 UIZSE $6,147 @1,124 Uz 6,909, 228 0
2010/10/28 |29 HIZ=ZE RS 312,500 @25,30 Uz 7,906,250 0
2010/10/31 |[=SAHEF P48 102 = 2 =8 700,000 0
(2 Al 64,286,342 0




